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Note: 1- All questions are COmpulsory, Each question is of 1 mark. (1x 15 = 15)
Question 1 - Whose statement is that the goal of "Wantlessness” is to provide happiness?

(A) Marshall (B) Adam Smith (C)Ricardo (D) J. K. Mehta
T 1 - "HTEAFA REAT FT T G 217 73y 27 gt R &7

(A) TR (8) U=H femey (c) Rarrzt (D) 3. F AgaT
Question 2 - Who said that economics is the “Science of Wealth”?

(A) Ricardo (B) Marshall (C) Adam Smith (D) Robbins
v 2 - ATET A A g e frwer iz

(A) st (B) Arerer (C) usH FeFy (D) g
Question 3 - Which Econnmist is called the “Father of Economics”?

(A) Marshall (B) Robbins {C) Adam smith (D) Pigou
T 3 - FR AT Y "I FT FAAF" Fgl AT 87

(A) AT (B) IfSH (c) wsH EAY (D) 9T

Question 4 - What is real science concerned with?

(A) What are (B) What should be (C) Both of the above
T4 4 - FEaAE e FrEay R

() FrE (B) T gletl AT (C) ST gt

(D) None of the above

(0) 354 A A F M A

Question 5 - Are there Economic Law?

(B) Law of Gravitation  (C) Law of Action-Reaction (D) All of the above

(A)Law of Demand

w4 5 - wifds g 8

(A) FiFar 7 Foreran (8) eI A A () - it v v (0) 3T A
Question 6 - The Phrase "Ceteris paribus" is associated with?

(A) With economic laws (B) with scientific laws  (C) With both of the above (D) With neither
W6 - "I AT AT T AT 318 .
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Question 7 - Which economist has this definition “Economic system is a complex process by which people earn

their livelihood?
(A)Brown (B) Hlcks (C) keyns (D) None of the above
TG 7. T RaTT R apserry e & 3R e U SHCR SR &, R gama siar sy ot 3urehr 7 €2
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Question 8 - What is the slope of Production possibility?

(A) Leftto right (B) Right to left (€) Top bottom (D) Bottom top
TR 8 - SCIIG FFNTIAT FT3TH AT §?

(A) ATT & ETE (B) o AT (€) T Aty (D) A A FUT
Question 9 - "Is Demanded is effective desire?

(A) J.S. Mill (B) Penson (C) Bagh (D) Benham
WA 9 - ART T TN seoT §?

(A) o TE. A (8) et (C) amer (D) FeEHT
Question 10 - Are there Joint demands?

(A) Pen and Ink (B) Magazines and Newspapers (C) Bus and Train (D) Ghee and Oil
W 10 - HYE 7T 2
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Question 11 - In a perfectly Inelastic demand curve, when the price increases by 10 percent, will the demand
decrease?

(A) 10% (B) 0% (C) 0.5% (D) 2%
TN 11- TOF ISR WA qF A S« AT 10 TR¥eT agot § & 7 g
(A)10% (8) 0% (C) 0.5% (D) 2%

Question 12 - In a more Elastic demand curve, when a 10 percent decrease in price will the demand for that
good increase?

(A) 10% (B) 20% (C) 0% (D) 0.5%
T 12 - ANF R AW TF A F@ FAd A 10 virwa H ) g1 W 3F a6 Fr A agam

(A} 10% (B) 20% (C) 0% (D) 0.5%
Question 13- ep = Proportional change in demand

Proportional change in price ~ Which Economist's formula for is?
(A) Pro. Keynes (B) Prof. Marshall (C) Adam Smith (D) Mrs. John Robinson
WA13-ep . HI A Aias Rads
g A rqurfas aRader 71 97 B anhreh @
(A) Y. P (B) Sit. AT (c) s femy (D) NAIN 7 WA

Question 14 - the concept of consumei'surples has been giving by?
(A) Marshal (B) Mehta (C) Dupuit (D) Penson

9 14 - 39AIFAT Fraad FH URON F AT A
(A) AT () Agar (o) e (D) ST

Question 15 - Assumptions of consumer'surples are?
(A) Measurement of Utility is Possible (B) Measurement of Utility is Impossible

(C) Lack of substitute good (D) Availability of substitute goods

(A) 1and 3 (B)1 and 2 (c) 3and 4 (D)2 and 4
TN 15 - SURFAT $T q97 PV ATAN §?

1- swfirar aroa § 2- 3T A=A it
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